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S/N Solution Distribution of marks Total 
1a. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1b. 

 
 
 
 
 
 
 
 

 
Each external angle of hexagon =360⁰  
 α = 180⁰- (90⁰ + 60⁰) 
 α = 180⁰- 150⁰ 
 α = 30⁰

 

 
 Sine rule: 

 
 

 

 
 
 
 
 
 
 
B1 for 60⁰ 
M1 for solving 
A1 for α = 30⁰ 
 
 
 
 
 
 
 
 
 
 
M1 for applying Sine rule 
 
 
M1 for finding y 
 
 
 
A1 for y = 6√3 cm 
 
 
 
 
 
 
B1 for using pythagora’s theorem 
 
B1 for both cos θ & sin θ 
 
M1 for substituting 
 
A1 for 7 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
6 marks 
 
 
 
 
 
 
 
 
 
 
 
 
 
4 marks 
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4 

5 

θ 

⁼ 

y 

Sin 
120⁰ 

Sin 30⁰ 
6 ⁼ 

Sin 120⁰ 
Sin 30⁰ 

y ⁼ 
6 

y 6 √3 cm 

⁼ 
√3 y 6  x 
2 

x 2 

6 
cm 

y 
30⁰ 30⁰ 

120⁰ 

6 cm 

6 cm 

α 

6 cm 

6 cm 

6 cm 

6 cm 



 

2a. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2b. 

 

 

 
Also, 

 
 
 
M1 for cross multiplying 
 
 
 
M1 for solving 
A1 for q=4 cm 
 
 
 
 
M1 for substitution 
 
M1 for cross multiplying 
 
 
M1 for solving 
 
 
 
A1 for P =28cm 
 
 
 
 
 
 
 
 
 
 
 
M1 for using Pythagoras theorem 
 
 
M1 for solving 
 
 
A1 for  X = 8 cm 

 
 
 

 
 
 
 
 
 
 
 
 
 
7 marks 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3 marks 

   q       =   16    =       P 

2 + q         24      3q + 2 + P 

  q        =  16 

2+q          24 

24q     = 16 (2 + q) 

24q      = 32 + 16q 

24q -16q = 32 

           8q = 32 

            q = 32/8 

            q = 4 cm 

Cos θ = 4/5 , Sin 
θ  = 3/5 

Cos θ + Sin θ = 
4/5 + 3/5 

Cos θ – Sin θ = 
4/5 – 3/5 

                       =  
7/5 x 5/1 

                       =  
7 

                            



 

 

 
 
               BC2 = CD2 + BD2 

 102 = x2 + 62 
 100 = x2 + 36 
 X2 = 100 – 36 
 X2 = 64 
 X = √64 
 X = 8 cm 

  TOTAL 20 marks 

 

X 

6 cm A B 

C 

D 

16    =     P 

24     3(4) +2 +P 
16  =     P 
24      14 + P 

24P = 16 (14 + P) 

 24P = 224 + 16P 

 24P – 16P =224 

 8P = 224 

 P = 224/8 

 P = 28 cm 


